520 OstwaldFarben (o), Y\\~=88,6

X,=85,99Y,~88,58,2,~92,64 B*,

515 %0525
08 71/ Mmmax (fm)bBUfmleert,)PGO x4,=0,3218y,,=0,3315 340
ormfarbtafel (x, y) A* =(ar—[an +an vt Yae(YIY.
y 230 Name und Spektralbereich *0=E£ag_{§.;'n+§.;'Y+§";‘ﬂ;YmEYIYlgﬂe
m Ry 561_770 ¥, 520_770 o o TR0,V TR0.AY T8 T
Lm G475 573 G380 561 39 =890 [XV] o
8758, 380_520 M, 573_475 bo = bao [2] 37
ay=1,by=-04 *
A%y
: : | >
n = P60 -40 40
R 625 a9 y=apy(Y/Y1g-1) o
o5 b, y=boy(Y/Y1g-1) =2
ayy=0,000,b,y=0,000 T
ag =0,000,by A=0,000
CIE 1931 X OstwaldFarben (o), Y\\~88,6
max (m) Buntwert, P60 T0
0,6 0,8 1,0 Buntheit (A*g, B*o)
CG251-1A_1 CG251-2A_1
Xy=85,99,Y,,=88,58,2,=92,64 PB* o X,=85,99,Y,,-88,58,2,,=92,64 PB* >
xy=0,3218y,,=0,3315 +40 X=0,3218y,,=0,3315 +40
A*1=(ar-[ay ay y+ay al) Yie(Y V19 13 A* p=(@y[ag rtap v+ Al YaelY/ Y19 1/3
B*1=(01-[by by vty A Yag(Y/¥19 /3 * 5=(0m[02,1tD5,y by A)) Yo Y/ Y19 M3
ag = a0 [(x-0,179y] + 8 = a9 [(x-0,179/y] +
by = byo [z B33 5, =020 [(Mp1X+bp1)/y]
ax=1, byy= 0,4 frsT“’\T . ay0= 1, byo= ~0,4 838 o "
myp1=1,000,b3=0,171 ! ! AL 1 mp;=-0,169,bp1=0,389 < —e_, ALZ
f t t » t t t »
n = P60 —40 40 n = P60 —40 1‘521\ N 40
ay,y=ay(Y/Y1g-1) 1 - a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
OstwaldFarben (0), Y,~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P60 T /40 max (m) Buntwert, P60 r—40
Buntheit (A*;, B*,) Buntheit (A*,, B*,)
CG251-3A_1 CG251-4A_1
X,=85,99,Y,~88,58.2,~92,64 B*, X,=85,99Y,~88,58.2,~92,64 B*,,
%y=0,3218y,,=0,3315 140 Xy=0,3218y,,=0,3315 140
A*3=(ag-[ag rtag, y+as al) Yie(Y/ V19 113 A* 4=(@g[ag ey, y+au ) Yiel Y/ Y19 /3
*3=(D3[D3,*bs,y +bs Al Y1 Y/ Y1913 * 4=(by=[Dy i*ba y +by al) Y1g(Y/Y19 13
ag = ay [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
a0= 1, byp= 0,4 p3s 37 A ay= 1, byy= ~0,4 B33 4 A
mp1=-0,974)0,=0658 57| " 2 mp=-0,1690p1=0389 P50~ R
n = P60 —40 ' 216 40 n = P60 —40 T ' 40
a3 y=ay(Y/Y1g-1) 1 3y, y=agy(Y/Y1g-1) sl
b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) |
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
OstwaldFarben (0), Y\~88,6 OstwaldFarben (0) Y\,=88,6 5
max (m) Buntwert, P60 T-40 max (m) Buntwert, P60 T-40
Buntheit (A*3, B*3) Buntheit (A*4, B*y)
CG251-5A_1 CG251-6A_1
X4=85,99Y,,=88,582,=92,64 B* X,=85,99Y,~88,58,2,~92,64 B*,
%y=0,3218y,,=0,3315 20 Xy=0,3218y,,=0,3315 X0
A* 5=<a5—[as.n+a5.y+as.A1>Y18<wvlg>}jS A* 6:(35‘[36,n+36,v+36,d)Y19(Y/V1a)ig
* 5=(b5~ (b5, 7+b5 v +bs AT) Y1 Y/Y19)1/3 * 6=(Dg—[Dg s, y+05 Al) Y16(Y/Y18)
85=8,,{(0,86¢-0,71y-0,026)}] g = a0 [X/y] +
bs=b,[(0,19¢+0,38/-0,24)4] bg=bao [(Mp1x+0p1)/y] 3 a7
apy = 1,00,b,, = 1,00 A* ay=1, byp=-0,4 A*
Ag,G,y,R=475,503,574,494c E n 5 mp;=-0,974,bp,=0,658 n 6
{ t p t t »
n = P60 -40 40 n = P60 -40 31 40
a5 y=ay(Y/Y1g-1) a5 y=aoy(Y/Y1g-1) 5
bs v =by(Y/Y1g-1) Bg,y=boy(Y/Y1g-1) |
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
a5 4=0,000,bs 4=0,000 ag o=0,000,b5 ,=0,000
OstwaldFarben (o), Y,~88,6 OstwaldFarben (0), Y,~88,6
max (m) Buntwert, P60 max (m) Buntwert, P60 T-40

Buntheit (A*g, B*5)

Buntheit (A*g, B*g)

CG251-7A_1

CG251-8A_1




515 %20 505 OstwaldFarben (o), Y\\~=88,6
7 M,,max (m) Buntwert, P55
Normfarbtafel (x,y)

Name und Spektralbereich
Ry 561_770 ¥, 520_770
Lm G475 573 G, 380 561
LI By 380 520 My 573_475

X,,~86,33,Y,,-88,59,2,=85,03 B*

xw=0,3321y,,=0,3407

A* =020 r*80,y 2, A Y1e(Y/Y19)1/3
o=(bg=[bg b y b ) Yl Y/ Y1 9 1/3

ag = ag [x/y]

bg = bao [2/4]

ay =1, byp=-0,4

A*,
" " " N
n=P55 —40 ' \ 40
2628 ag,y=ay(Y/Y1g-1) 5 31
“%95¢,E b, y=boy(Y/Y1g-1)
agy=0,000,b,y=0,000
ag =0,000,0 4=0,000
CIE 1931 X OstwaldFarben (o), Y\\~88,6
500 max (m) Buntwert, P55 0
00 02 04 06 08 10 Buntheit (A%, B*c)
CG251-1A_1 CG251-2A_1
X=86,33,Y,,=88,59,2,,=85,03 B* X,~=86,33,Y,,=88,59,7,,=85,03 B*
xy=0,3321y,,=0,3407 +40 X=0,3321y,,~=0,3407 40
A* =@y atag y+ag o)) Yae(Y/ Y19 /3 A* 2—(32 [3g,i*a2,y+ap,a]) Y1g(Y/ Y19 13
B*1=(01-[by ity y+by o) Vae(Y/Y29 /3 27y [bp tbp vy A Vs Y/Y19 13
ay = ago [(x-0,172/y] 4L 2 = a0 [(x-0,172/y]
=byo[zM] B33 57 0,=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 iﬁb‘ A* =1, by=-04 A*
m71=1,000by;=0,171 \ \ " Mp;=-0,169 bp;=0,369 \ "2
n=P55 —40 ' ' 40 n= P55 —40 ' 40
ay,y=ay(Y/Y1g-1) 1 31 a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1)
ay=0,000,b,,=0,000 ay=0,000,b,y=0,000
a3 4=0,000,b; 4=0,000 a3 =0,000,b, 4=0,000
OstwaldFarben (o), Y,~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P55 T/40 max (m) Buntwert, P55
Buntheit (A*;, B*,) Buntheit (A*,, B*,)
CG251-3A_1 CG251-4A_1
X=86,33,Y,,=88,59,2,,=85,03 B* X,~=86,33,Y,,~88,59,7,,=85,03 B*
XW—O 3321y,,~0,3407 +40 XW—O 3321y,,=0,3407 +40
o=(ag~[ag,ra yag a]) Vi YY1 1/ o (aq[3a 8y a]) Vagl YY1 13
5705~ g b3 A Vi YY1 13 704~ [ba b by AD V1YY191/3
ag = ag[(x-0,17D)/y] + a,= 2y [(x-0,173ly] +
b3=byo [(Mp1x+bp1)/y] —— bs=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 * =1, by=-04 B33 *
mp=-0974b,=0658 | @'S6| . A% mp=-0.160b20380 | PSEPY Al
n=P55 —40 ' 316 40 n=P55 —40 T ad’ 40
a3 y=ay(Y/Y1g-1) 1 3y, y=agy(Y/Y1g-1)
b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) b
ay=0,000,b,y=0,000 ay=0,000,b,y=0,000
25,4=0,000,05,4=0,000 a4 4=0,000,b; 4=0,000
OstwaldFarben (0), Yy~88,6 OstwaldFarben (o), Y,~88,6 4
max (m) Buntwert, P55 r—40 max (m) Buntwert, P55 T-40
Buntheit (A*3, B*3) /i Buntheit (A*4, B*y)
CG251-5A_1 CG251-6A_1
Xu=86,33Y,,-88,59.2,~8503 B*, X,=86,33,Y,~88,59.2,~8503 B*,
xW—O 3321y,,=0,3407 0 xW—O 3321y,=0,3407 20
5=(85[35,*a5 y*as, A1>Y18<wv18>153 6=(86[3%6,1+36. v+ A])Ym(Y/Vm)ig
5=(D5~[Ds,#s, y+bs, A]) Y1(Y/ Y1) /3 6=(b5=[0,r+b v +bs Al) Y18(Y/Y1g)
aS_aZX[(O 86x-0,71y-0,026)Y] 4L ag = ag [x/y] 4L
b5=b2x[(0,19(‘*0,3&'—0,24)6/] b be=byg [(Mp1x+bp1)/y] g a7
oy = 1,00,b5 = 1,00 43 37 % 850=1, byg= -0,4 qrss’c’?_‘\ "
)\B G,Y,R=475,503, 574 494c, E| n i R n Ak 5 mp;=-0,974,bp,=0, 658 n Ak 6
> t >
n=P55 —40 40 n = P55 —40 31 40
a5 y=ay(Y/Y1g-1) R a5 y=aoy(Y/Y1g-1) 5

bs y=boy(Y/Y1g~1)
a,y=0,000,b,y=0,000

a5 4=0,000,b5 x=0,000
OstwaldFarben (0), Yy~=88,6
max (m) Buntwert, P55
Buntheit (A*g, B*5)

b, y=boy(Y/Y1-1)
a,y=0,000,b,y=0,000
a5,4=0,000,bs A=0,000
OstwaldFarben (0), Y,~88,6
max (m) Buntwert, P55
Buntheit (A*g, B*g)

CG251-7A_1

CG251-8A_1




0525

P50

OstwaldFarben (o), Y\\~=88,6

X,=86,92,Y,~88,59,2,~76,63 B*,

0,8 My,max (m) Buntwert, Xw=0,3447y,,=0,3513 5140
510[ Normfarbtafel (x,y) A* = +ag v+ Y1g(Y/Y;9)1/3
y Name und Spektralbereich 0 Ezg_{zg n+§g Y+§g ﬂ;YlBEY/le))lB
Nm Rm 561_770 ¥, 520_770 o M 18
w5 G 475 573 G, 380_561 39 =890 [XV] T
.\, A58, 380_520 M, 573_475 bg = bao [2M) 8211 g7
a50=1, byg= -0,4 *
A%y
) ) ) .
. ' n = P50 —40 ' \ 40
. 2750 ag,y=ay(Y/Y1g-1) 32
9%95¢,E b, y=boy(Y/Y1g-1)
ayy=0,000,b,y=0,000 T
ag =0,000,by A=0,000 1
7 CIE 1931 X OstwaldFarben (o), Y\\~88,6
0 max (m) Buntwert, P50 T-40
0,0 0,2 0,4 0,6 08 1,0 Buntheit (A*o, B*)
CG251-1A_1 CG251-2A_1
Xy=86,92,Y,,=88,59,2,=76.63 B* X,=86,92,Y,~88,59,2,~76,63 B*,,
%y=0,3447y,,=0,3513 20 Xy=0,3447y,,=0,3513 40
A* =@y atag y+ag o)) Yae(Y/ Y19 /3 A* 2—(32 [3g,i*a2,y+ap,a]) Y1g(Y/ Y19 13
B 1=(by-[by i#by y+by ) Y1g(Y/Y3L/3 =(05[02. b2y by A YagY/Y; 9 /3
a1 =ay[(x-0,179H] 8 = a9 [(x-0,179/y] +
=hyo[2/M] P71 4, =bs0 [(Mpx+bp1)/Y]
80=1, byp=-04 * =1, by=-04 8271 *
mr=1000bn=0171 Lt mp=-0,160b20380 | @850p— g Al
n = P50 —40 ' ' 40 n = P50 —40 T 5 2 40
ay,y=ay(Y/Y1g-1) 0 32 a5 y=agy(Y/Y1g-1) ™
by v=boy(Y/Y1g-1) 03 y=boy(Y/Y1g-1) [
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000 6
OstwaldFarben (0), Y,~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P50 40 max (m) Buntwert, P50 r—40
Buntheit (A*4, B*;) Buntheit (A*,, B*))
CG251-3A_1 CG251-4A_1
Xy=86,92,Y,,=88,59,2,=76.63 B* Xo=86,92,Y,,=88,59.2,=76,63 B*
xW—O 3447y,=0,3513 20 xW-o 3447y,~0,3513 40
o=(ag~[ag,ra yag a]) Vi YY1 1/ o (aq[3a 8y a]) Vagl YY1 13
5705~ g b3 A Vi YY1 13 704~ [ba b by AD V1YY191/3
ag = ag[(x-0,17D)/y] a,= 2y [(x-0,173ly]
b3=byg [(Mp1x+bp1)/y] 7 & =50 [(Mp1x+bp1)/Y]
3y0=1, byo=-0.4 2 A* a0=1, byp=-04 71 o7 A*
mMp;=-0,974,bp,=0, 658 n n L3 mp;=-0,169,bp,=0, 389 n n R
n=P50 40 ' 329 40 n=P50 -40 "B | nd 40
a3 y=ay(Y/Y1g-1) 0 3y, y=agy(Y/Y1g-1) b
b y=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
OstwaldFarben (0), Y\~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P50 -40 max (m) Buntwert, P50 -40
Buntheit (A*3, B*3) Buntheit (A*4, B*4)
CG251-5A_1 CG251-6A_1
X,=86,92.Y,,~88,59.2,~76,63 B*, X=86,92.Y,~88,59,2,~76,63 B*,
xW—O 3447y,=0,3513 X0 xW—O 3447y,=0,3513 X0
5=(85[35,*a5 y*as, A1>Y18<wv18>153 6=(86[3%6,1+36. v+ A])Ym(Y/Vm)ig
5=(D5~[Ds,#s, y+bs, A]) Y1(Y/ Y1) /3 6=(b5=[0,r+b v +bs Al) Y18(Y/Y1g)
aS_aZX[(O 86x-0,71y-0,026)Y] + ag = ag [x/y] +
b5=b2x[(0,19<+0,3&—0,24)4/] o be=bz0 [(Mp1X+bp1)/y] L
=1,00,b5 = 1,00 37 o 850= 1, byo= -0,4 82 .
)\B 6.vR=475,503,574,494c.E, 5] \ A% Mp;=-0,974 1=0,58 o5 T\, Ats
n = P50 —40 ' 40 n = P50 —40 ' 32 40
a5 y=ay(Y/Y1g-1) S 2 a5 y=aoy(Y/Y1g-1) 5
bs v =by(Y/Y1g-1) b\ Bg,y=boy(Y/Y1g-1) |
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000 il
a5 4=0,000,bs 4=0,000 ag o=0,000,b5 ,=0,000
OstwaldFarben (0), Y\~88,6 6 OstwaldFarben (o), Y,~88,6 6
max (m) Buntwert, P50 r—40 max (m) Buntwert, P50 T-40

Buntheit (A*g, B*5)

Buntheit (A*g, B*g)

CG251-7A_1

CG251-8A_1




OstwaldFarben (o),

0525

Y\=88.6

X,=87,88 Y, ~88,59,2,~67,39 B*,

0,8 M, max (m) Buntwert, P45 X=0,3603y,,=0,3632 140
)!’;10 [ Normfarbtaﬁ;r(ri(eﬁnd Spektralbereich A*O_(ao [80,120,*3 A])Ym(wyls&?s
s o=(bo=[br#bo,v+bo ) Yae(Y/Y19) M3
Rm 561 770 ¥, 520_770 &
Lm Gy 475 573 G, 380 561 39 =890 [XV] T
§58m 380 520 M, 573 475 bg = bao [2M) 74 12 a5
ay =1, byp=-0,4 A*
1 1 > 0
n= P45 —40 ' 40
Re2e ag,y=ay(Y/Y1g-1) B
9%95¢,E b, y=boy(Y/Y1g-1) 1
apy=0,000,5,y=0,000
a5,4=0,000,by 4=0,000 1 3
CIE 1931 X OstwaldFarben (o), Y\\~88,6
max (m) Buntwert, P45 T-\0
0,0 0,2 04 0,6 0,8 10 Buntheit (A*q, B*o)
CG251-1A_1 CG251-2A_1
X=87,88,Y,,=88,59,2,,=67,39 B* X,~=87,88,Y,,~88,59,2,,=67,39 B*
Xy=0,3603y,,=0,3632 B +40 X=0,3603y,,~0,3632 OB +40
A* 1=(@—[ag tay ytay A])Y18(V/Y18)1 i A* 2—(32 [8y ritap,y*ap A])Ym(Y/Vm)l i
B*1=(by~[by y+by vy a]) Y1e(Y/Y19) /3 5=(0 [0z ity y 5 A]) Y15(Y/Y19) /3
a1 =ay[(x-0,179H] + 2y = a0 [(x=0,17D/y] 4
=hyo[2/M] 7472 a9 0,=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 Fsg—«)\T A* =1, by=-04 74 72 a5 A*
mr1=1,000,byy=0,171 ' ' > 1 Mp1=-0,169 bp;=0,389 ' EO— > 2
n=P45 —40 40 n= P45 —40 5%\ 33 40
ay,y=ay(Y/Y1g-1) 0 33 a5 y=agy(Y/Y1g-1) G
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) | 3
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 3 ap,4=0,000,b, 5=0,000
OstwaldFarben (o), Yy~=88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P45 -40 max (m) Buntwert, P45 r—40
Buntheit (A*4, B*;) Buntheit (A*,, B*))
CG251-3A_1 CG251-4A_1
X,=87,88,Y,~88,59,2,~67,39 B*,, X,=87,88 Y, ~88,59,2,~67,39 B*,,
xW—O 3603y,,=0,3632 140 xW-o 3603y,,=0,3632 140
3 (ag[3g,n+a3 y+ag a]) Y1e(Y/ V1) 13 (B30t v +ag ) Yae(Y/Y19) /3
5705~ g b3 A Vi YY1 13 704~ [ba b by AD V1YY191/3
ag = ag[(x-0,17D)/y] + a,= 2y [(x-0,173ly] +
b3=byo [(Mp1x+bp1)/y] 7 @ bs=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 74 * =1, by=-04 74 72 *
38
mMp;=-0,974by,=0,658 ' o527 < T ' A# 3 Mp1=-0,169 bp;=0,389 ' P50 A# 4
n = P45 —40 33 40 n = P45 _40 0 33 40
a3 y=ay(Y/Y1g-1) 0 3y, y=agy(Y/Y1g-1) h
b3 v=bay(Y/Y1g-1) 1 A3 by y=bay(Y/Y1g-1) 13
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
OstwaldFarben (0), Yy~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P45 r—40 max (m) Buntwert, P45 T-40
Buntheit (A*3, B*3) Buntheit (A*4, B*y)
CG251-5A_1 CG251-6A_1
X,=87,88,Y,~88,59,2,~67,39 B*, X,=87,88 Y, ~88,59,2,~67,39 B*,
xW—O 3603y,=0,3632 X0 xW—O 3603y,,=0,3632 X0
57(85[5,+a5 v +a5,4]) Y1e(Y/ V1) 113 6=(85[36,+3,v+36 ) Y1e(Y/Y19) /3
57(b5{bs #b5 v+, ) Yae( YY1 /3 67 (bbb v+, ) Yas( Y/ Y19 1/3
a5—a2,<[(0 86x-0,71y-0,026)Y] + ag = ag [x/y] +
b5=b2)([(0119(+0v3&_0v24)6/] 74 bg=bao [(Mp1x+0p1)/y] Ly o
=1,00,by, = 1,00 2 38 * ay=1, byp=-0,4 74 *
)\B G,Y,R=475,503, 574 494c, E| niy 5 : Q A# 5 mp;=-0,974,bp,=0, 658 ' 0'5?/ A# 6
n=P45 _40 40 n = P45 _40 33 40
as y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1) 5
bs y=boy(Y/Y1g~1) 1 b, y=boy(Y/Y1-1) L 3
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
OstwaldFarben (0), Y,~=88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P45 max (m) Buntwert, P45 T-40

Buntheit (A*g, B*5)

Buntheit (A*g, B*g)

CG251-7A_1

CG251-8A_1




520 OstwaldFarben (o), Y\\~=88,6

51554 525M max (m) Buntwert, P40

Normfarbtafel (x,y)

Name und Spektralbereich

Ry 561_770 ¥, 520_770

Lm Gy 475 573 G, 380 561

Re74Bm 380_520 M, 573_475
o

Xy=89,41,Y,,~88,59,2,,=57,30 B*

X=0,3799y,,~0,3764 +40

A*o=(a0-[20 120,20 A V1l YIY19 S
o=(bg=[bg b y b ) Yl Y/ Y1 9 1/3

ag =agg [x/y] 4L

bg = bao [2M)

ap0= 1, b= ~0,4 69 V3

A*,
) ) .
n=P40 —40 ' 40
Q628 ag,y=ay(Y/Y1g-1) s4
9%95¢,E b, y=boy(Y/Y1g-1)
apy=0,000,b,y=0,000 T 9
a9,4=0,000,b 4=0,000 L
. CIE 1931 X OstwaldFarben (o), Y\\~88,6
0 max (m) Buntwert, P40 T-N0
0,0 0,2 0,4 0,6 08 1,0 Buntheit (A*q, B*o)
CG251-1A_1 CG251-2A_1
X,=89,41Y,~8859,7,757,30 B*,, X4=89,41Y,~8859,2,757,30 B*,,
%y=0,3799y,,=0,3764 140 Xy=0,3799y,,=0,3764 40
A* =@y atag y+ag o)) Yae(Y/ Y19 /3 A* 2—(32 [8yntap ytay, A])Ym(Y/Vm)l/S
B*1=(0y-[by r#Dy.y+01 ) Y1l Y19 V3 27 (b0 by y by A]) Yael YY1 13
a1 =ay[(x-0,179H] + 2y = a0 [(x=0,17D/y] 4
=hyo[2/M] 6o | 73 =bs0 [(Mpx+bp1)/Y]
ay=1, byp=-04 38 A* =1, by=-04 69 3 g5 A*
mr;=1,000,br,=0,171 n n 2t Mp;=-0,169,bp(=0,389 B—o— o, 2
n = P40 —40 ' W 40 n= P40 40 5 34 40
ay,y=ay(Y/Y1g-1) 0 a5 y=agy(Y/Y1g-1) 12 19
by v=boy(Y/Y1g-1) L 03 y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
31 4=0,000,b; =0,000 ay 4=0,000,b, ,=0,000
OstwaldFarben (0), Yy~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P40 r—40 max (m) Buntwert, P40 r—40
Buntheit (A*;, B*,) Buntheit (A*,, B*,)
CG251-3A_1 CG251-4A_1
X,=89,41Y,~8859,7,757,30 B*,, X4=89,41Y,~8859,72,757,30 B*,,
xW—O 3799y,,=0,3764 140 xW-o 3799y,,=0,3764 140
o=(ag~[ag,ra yag a]) Vi YY1 1/ o (aq[3a 8y a]) Vagl YY1 13
5705~ g b3 A Vi YY1 13 704~ [ba b by AD V1YY191/3
ag = ag[(x-0,17D)/y] + a,= 2y [(x-0,173ly] +
b3=byo [(Mp1x+bp1)/y] a5 =50 [(Mp1x+bp1)/Y]
=1, by=-04 69 | 73 * a0=1,by=-04 69 | 73 *
Mp=—09745p=0§58 | L S mp=-0169bp=03g9 , p¥B1o 38 Als
n= P40 —40 ! 3497 40 n = P40 —40 i) 34 40
ag y=apy(Y/Y1g-1) 0 19 ay y=apy(Y/Y1g~1) h 19
b3 v=b,y(Y/Y1g-1) by y=boy(Y/Y1g-1) T
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
a3,4=0,000,b3 4=0,000 a,,4=0,000,b, ,=0,000
OstwaldFarben (0), Y,~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P40 T-40 max (m) Buntwert, P40 T-40
Buntheit (A*3, B*3) Buntheit (A*4, B*y)
CG251-5A_1 CG251-6A_1
X,=89,41Y,~8859,7,757,30 B*., X4=89,41Y,~88,59,2,757,30 B*,
xW—O 3799y,,=0,3764 X0 xW—O 3799y,,=0,3764 X0
5=(Bs[8s 135 v+a5 A) Vil Y19 113 6=(B6 {86,136 v+ AD V1ol YIY19) 1S
5=(b5[bs i*bs y b5 A]) Y16(Y/ Y19 1/3 6=(bs=[Dg,r+bg y*+06 Al) Y18(Y/Y1g)
aS_aZX[(O 86x-0,71y-0,026)Y] + ag = ag [x/y] +
b5'b2x[(0 19+0,38/-0,24)4] bg=bs0 [(Mp1x+bp1)/y]
=1,00,by, = 1,00 73 3g A* 850=1, byg= -0,4 6o [3 38 A*
)\B 6,v,R=475,503,574,494c.F, nqu?— \ .5 mp;=-0,974,b1=0,658 | . 6
t » t »
n = P40 —40 34 40 n = P40 —40 34 40
a5 y=ay(Y/Y1g-1) a5 y=aoy(Y/Y1g-1) 5l 9
bs v =by(Y/Y1g-1) 1A| e Bg,y=boy(Y/Y1g-1) by Nl
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
OstwaldFarben (o), Y,~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P40 r—40 max (m) Buntwert, P40 T-40
Buntheit (A*s, B*5) Buntheit (A*g, B*g)
CG251-7A_1 CG251-8A_1




55 52 525 OstwaldFarben (o), Y\\~=88,6 Xw=91,83,Y,,~88,59,7,,=46,45 B*
08 1/ M, max (m) Buntwert, P35 X=0,4047y,,=0,3904 / 140
510[ Normfarbtafel (x,y) A* = +ag v+ Y1g(Y/Y;9)1/3
y Name und Spektralbereich 0 Ezg_{zg n+§g Y+§g ﬂ;YlBEY/le))lB
Ry 561_770 ¥, 520_770 o Y AL
I-m Gm 475 573 G, 380 561 39 =890 [XV] T
m 380 520 M, 573 475 bg = bao [2M)
a,0=1, byy=-0,4 64 /5 39 A
0
. . \
n=P35 —40 ' 40
Q628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
apy=0,000,5,y=0,000 1
a5,4=0,000,by 4=0,000
! CIE 1931 X OstwaldFarben (o), Y\\~88,6
0 max (m) Buntwert, P35
0,0 0,2 04 0,6 0,8 1,0 Buntheit (A*q, B*o)
CG251-1A_1 CG251-2A_1
X,=91,83Y,~8859.2,~4645 B* X4=91,83Y,~88,59,2,~4645 B*,,
%y=0,4047y,,=0,3904 et Xw=0,4047y,,=0,3904 et
A* 1=(@r~[ay n+ay y+ay Al) Y1e(Y/Y1g) A* 2—(32 [82 ritap,y*ap Al) Y18(Y/Y1g)
B*1=(01-[by ity y+by o) Vae(Y/Y29 /3 27y [bp tbp vy A Vs Y/Y19 13
a1 =ay[(x-0,179H] + 2y = a0 [(x=0,17D/y] 4
=hyo[2/M] 75 =bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4 64 39 * ay=1, byp=-0,4 64 *
My;=1,000by; =017 Nanem B Ak 1 Mp;=-0,169,bp;=0,389 ) A%,
t t »
n=P35 —40 36 40 n=P35 -40 4 36 40
ay,y=ay(Y/Y1g-1) 9 ) a5 y=agy(Y/Y1g-1) 13 24
by v=boy(Y/Y1g-1) 1 03 y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 h apy=0,000,5,,=0,000
31 4=0,000,b; =0,000 ay 4=0,000,b, ,=0,000
OstwaldFarben (o), Yy~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P35 r—40 max (m) Buntwert, P35 r—40
Buntheit (A*;, B*,) Buntheit (A*,, B*,)
CG251-3A_1 CG251-4A_1
X,=91,83Y,~88,59.2,~4645 B*, X4=91,83Y,~88,59.2,~4645 B*,,
xW—O 4047y,,=0,3904 LaT40 xW-o 4047y,,=0,3904 et
37(8g-[ag n+ag,y+ag al) Y1s(Y/Y19) 4= (ay~[ag +ay,y+ay Al) Y1s(Y/Y19)
5705~ g b3 A Vi YY1 13 704~ [ba b by AD V1YY191/3
ag = ag[(x-0,17D)/y] + a,= 2y [(x-0,173ly] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay=1, byg=-0,4 75 39 * ay=1, byp=-0,4 64 *
Mp1=—0,974,b;=0,658 og A%y mp1=-0,169,bp;=0,389 e A%,
n=P35 -40 o 40 n=P35 -40 36 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 24
b3 v=b,y(Y/Y1g-1) y by y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
OstwaldFarben (0), Y\y~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P35 T-40 max (m) Buntwert, P35 T-40
Buntheit (A*3, B*3) Buntheit (A*4, B*y)
CG251-5A_1 CG251-6A_1
X,=91,83Y,~8859.2,~4645 B*, X4=91,83 Y,~88,59.2,~4645 B*,
xW—O 4047y,,=0,3904 et xW—O 4047y,,=0,3904 et
5=(85[85,1+35 y*+35 A])Yls(Y/Y18)1 i 6=(36[36,n*36,v+36 AJ)Ym(YNm)l 5
5=(b5[bs i*bs y b5 A]) Y16(Y/ Y19 1/3 6=(bs=[Dg,r+bg y*+06 Al) Y18(Y/Y1g)
aS_aZX[(O 86x-0,71y-0,026)Y] + ag = ag [x/y] +
b5'b2x[(0 19+0,38/-0,24)4] bg=bs0 [(Mp1x+bp1)/y]
=1,00,by, = 1,00 75 39 A* ay=1, byp=-0,4 64 75 39 A*
)\B 6,v,R=475,508,574,494c E, chz—o—. ) G Mp1=-0,974 bp,=0,658 6
t p
n=P35 —40 36 40 n=P35 -40 >, 40
a5 y=ay(Y/Y1g-1) 4 a5 y=aoy(Y/Y1g-1)
bs v =by(Y/Y1g-1) SN Bg,y=boy(Y/Y1g-1)
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
OstwaldFarben (o), Y,~88,6 OstwaldFarben (0), Y,~88,6
max (m) Buntwert, P35 r—40 max (m) Buntwert, P35 T-40

Buntheit (A*g, B*5)

Buntheit (A*g, B*g)

CG251-7A_1

CG251-8A_1




520 OstwaldFarben (o),

Y\/=88.6

X4=95,71Y,~88,59,2,~35,03 B*,

515 % 525
08 77 M, max (m) Buntwert, P30 X=0,4363y,,~0,4038 g 140
510[ Normfarbtafel (x,y) A* = +ag v+ Y1g(Y/Y;9)1/3
y Name und Spektralbereich 0 Ezg_{zg n+§g Y+30 ADYael 18)1/3
v+0o Al) Y18(Y/Y19)
Rm 561 770 ¥, 520_770 &
Lm Gy 475 573 G, 380 561 39 =890 [XV] T
5733,,. 380 520 M, 573 475 bg = bao [2M)
=1, by=-04 59 [I7 39 A*
1 1 1 > 0
¥} n=P30 _40 ) 37 40
1N 525, ag y=apy(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000 INT
ag =0,000,by A=0,000
' CIE 1931 X OstwaldFarben (o), Y\\~88,6
0 max (m) Buntwert, P30 T-40
0,0 0,2 04 0,6 0,8 1,0 Buntheit (A*g, B*o)
CG251-1A_1 CG251-2A_1
Xw=95,71,Y,,=88,59,2,,=35,03 B* Xw=95,71,Y,,~88,59,2,,=35,03 B*
Xy=0,4363y,,=0,4038 +40 X=0,4363y,,~0,4038 +40
A* =@y atag y+ag o)) Yae(Y/ Y19 /3 A* 2—(32 [3g,i*a2,y+ap,a]) Y1g(Y/ Y19 13
B*1=(01-[by ity y+by o) Vae(Y/Y29 /3 27y [bp tbp vy A Vs Y/Y19 13
a1 =ay[(x-0,179H] + 2y = a0 [(x=0,17D/y] 4
=hyo[2/M] =bs0 [(Mpx+bp1)/Y]
30=1, byo=-0,4 59 |77 39 * 80=1, by=-0,4 59 %
m7;=1,000by; 0,171 . BT, A%y Mp;=-0,169,b5,=0,389 ) A*,
n = P30 —40 ! 37Q " 40 n = P30 _40 4 37 40
ay,y=ay(Y/Y1g-1) 8 9 a5 y=agy(Y/Y1g-1) 11 29
by y=boy(Y/Y1g~1) | by v=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 1 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
OstwaldFarben (o), Yy~=88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P30 r—40 max (m) Buntwert, P30 r—40
Buntheit (A*;, B*,) Buntheit (A*,, B*,)
CG251-3A_1 CG251-4A_1
Xw=95,71,Y,,-88,59,2,~=35,03 B* Xw=95,71,Y,,~88,59,2,,=35,03 B*
XW—O 4363y,,~0,4038 +40 XW—O 4363y,,~0,4038 +40
o=(ag~[ag,ra yag a]) Vi YY1 1/ o (aq[3a 8y a]) Vagl YY1 13
5 (ba{b3 03 b A Yael YY1 /3 704~ [ba b by AD V1YY191/3
ag = ag[(x-0,17D)/y] + a,= 2y [(x-0,173ly] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
80=1, byp=-04 77 39 * 80=1, by=-0,4 59 *
Mpy=-0,974.b;=0,§58 59 A%y Mp;=—0,169,bp,=0,389 7 39 A%,
n=P30 -40 9 40 n = P30 -40 37 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 1 29
b y=boy(Y/Y1g-1) K by y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
OstwaldFarben (0), Y\~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P30 T-40 max (m) Buntwert, P30 T-40
Buntheit (A*3, B*3) Buntheit (A*4, B*4)
CG251-5A_1 CG251-6A_1
Xw=95,71,Y,,~88,59,2,,=35,03 B* Xw=95,71,Y,,~88,59,2,,=35,03 B*
XW—O 4363y,,~0,4038 +40 XW—O 4363y,,=0,4038 +40
5=(Bs[8s 135 v+a5 A) Vil Y19 113 6=(B6 {86,136 v+ AD V1ol YIY19) 1S
5=(b5[bs i*bs y b5 A]) Y16(Y/ Y19 1/3 6=(bs=[Dg,r+bg y*+06 Al) Y18(Y/Y1g)
aS_aZX[(O 86x-0,71y-0,026)Y] + ag = ag [x/y] +
b5-b2x[(0 19¢+0,38/-0,24)4] be=b20 [(Mp1X+bp /Y]
=1,00,by, = 1,00 [ " 850=1, byg= -0,4 b, 39 "
)\B 6,v,R=475,508,574,494¢ E, nrcs:t—o~3? \ Ak 5 Mp1=-0,974 b;=0,658 59 Ats
n=P30 _40 37 R 40 n = P30 _40 o 40
as y=apy(Y/Y1g-1) N 9 ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) b, y=boy(Y/Y1-1)
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
OstwaldFarben (0), Y,~88,6 OstwaldFarben (0), Y,~88,6
max (m) Buntwert, P30 r—40 max (m) Buntwert, P30 40

Buntheit (A*g, B*5)

Buntheit (A*g, B*g)

CG251-7A_1

CG251-8A_1




520 OstwaldFarben (o), Y\\~=88,6

X,=102,04,~88,59.2,~2356 B*,,

515 %, 525
08 17 M,max (m) Buntwert, P25 Xy,=0,4764y,,-0,4136 g =40
510| Normfarbtafel (x,y) A* = +ag v+ Y1g(Y/Y;9)1/3
y Name und Spektralbereich 0 Ezg_{zg n+§g Y+§g ﬂ;YlBEY/le))lB
Ry 561_770 ¥, 520_770 o Y AL
m G 475 573 G, 380 561 39 =890 [XV] T
751Bm 380 520 M, 573 475 by = bio [bZM 0
8 a0 =1, by=-0,
54 Bl a1 A%
n=P25 —40 ) 40
O 625 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
ayy=0,000,b,y=0,000
ag =0,000,by A=0,000
' CIE 1931 X OstwaldFarben (o), Y\\~88,6
0 max (m) Buntwert, P25 [-40
00 02 04 06 08 10 Buntheit (A%, B*()
CG251-1A_1 CG251-2A_1
X,=102,04Y,=88592,~2356 B*,, X,=102,04Y,,=88,59.2,~2356 B*,,
Xw=0,4764y,,=0,4136 et Xy=0,4764y,,=0,4136 et
A* 1=(@r~[ay n+ay y+ay Al) Y1e(Y/Y1g) A* 2—(32 [82 ritap,y*ap Al) Y18(Y/Y1g)
B*1=(01-[by ity y+by o) Vae(Y/Y29 /3 27y [bp tbp vy A Vs Y/Y19 13
a1 =ay[(x-0,179H] + 2y = a0 [(x=0,17D/y] +
=hyo[2/M] =bs0 [(Mpx+bp1)/Y]
80=1, byp=-04 54 [81 41 * =1, by=-04 4 *
mr1=1,000, A%y Mp1=-0,169 bp;=0,389 2 1 4 A%
n=P25 39 2 40 n=P25 -40 4 39 = 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 7
by v=boy(Y/Y1g-1) f 03 y=boy(Y/Y1g-1) 1
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
2y 4=0,000,b; ,=0,000 ap o=0,000,b, ,=0,000
OstwaldFarben (0), Yy~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P25 r—40 max (m) Buntwert, P25 r—40
Buntheit (A*;, B*,) Buntheit (A*,, B*,)
CG251-3A_1 CG251-4A_1
X,=102,04Y,=88592,~2356 B*, X,=102,04Y,,=88,59.2,~2356 B* ,
xW—O 4764y,,~0,4136 LaT40 xW—O 4764y,=0,4136 et
37(8g-[ag n+ag,y+ag al) Y1s(Y/Y19) 4= (ay~[ag +ay,y+ay Al) Y1s(Y/Y19)
5705~ g b3 A Vi YY1 13 704~ [ba b by AD V1YY191/3
ag = ag[(x-0,17D)/y] + a,= 2y [(x-0,173ly] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
30=1, by=-0,4 g1 4l * 80=1, by=-0,4 4 *
Mp1=-0,974,b,=0,658 54 A%y Mp1=-0,169 bp;=0,389 e Bl a1 A%,
n=P25 -40 34 40 n=P25 -40 5334 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 7
b3 v=b,y(Y/Y1g-1) ™~ ] by y=boy(Y/Y1g-1) 1
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
OstwaldFarben (0), Yy~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P25 T-40 max (m) Buntwert, P25 T-40
Buntheit (A*3, B*3) Buntheit (A*4, B*y)
CG251-5A_1 CG251-6A_1
X,=102,04Y,=88592,~2356 B*, X,=102,04Y,,=88,59.2,~2356 B*,
xW—O 4764y,,=0,4136 et xW—O 4764y,=0,4136 et
5=(85-[as n+as y+ag, A])Yls(Y/Y18)1 i 6=(36~[2 r*3g,y*a5 AJ)Ym(YNm)l 5
5=(D5~[Ds,#s, y+bs, A]) Y1(Y/ Y1) /3 6=(b5=[0,r+b v +bs Al) Y18(Y/Y1g)
a5—a2,<[(0 86x-0,71y-0,026)Y] + ag = ag [x/y] +
be=by,{(0,19x+0,38/~0,24)4] be=boo [(MorX+bp2)¥]
agy = 1,00,by, = 1,00 " an0= 1, byo= ~0.4 L a1 .
Ag.6.y R=475,503,574.494c E nidohg b 4L A¥s Mp1=-0,974 by,=0,658 54 A¥e
n=Pp25 —40 & e 40 n=P25 —40 4 40
a5 y=ay(Y/Y1g-1) 5 a5 y=aoy(Y/Y1g-1)
bs y=boy(Y/Y1g~1) 1 bg y=boy(Y/Y1g-1) 71
ayy=0,000,b,y=0,000 ay=0,000,b,y=0,000
a5 4=0,000,b5,4=0,000 a5,4=0,000,b5,4=0,000
OstwaldFarben (0), Y\~88,6 OstwaldFarben (o), Y,~88,6
max (m) Buntwert, P25 r—40 max (m) Buntwert, P25 40

Buntheit (A*g, B*5)

Buntheit (A*g, B*g)

CG251-7A_1

CG251-8A_1




